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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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P3-9

ByiE) | GEBIETIC (F)) | EHME (BAH/K) | XS ERE

07:00 294 150. 0 E BRi&e07:00 Bzl (RAERE)
07:45 294 150. 0 5| 1Ri%e07:45 B CGREMEREE)
09:15 294 150.0 =l RRiB009:15 B (RFAKEE)
10:10 294 150.0 S {Ri%@10:10 B3 (RAERSE)
10:55 294 150.0 El 1BRi&e10:55 Bz (GRAERE)
11:40 294 150.0 5| Rike11:40 Bz (REAERS)
12:20 294 150.0 Sl {Rige12:20 B3 (RAERSE)
13:00 294 150. 0 F BRi%e13:00 Bz (GRAERRE)
13:45 294 150.0 E BRige13:45 Bz CGRAERSE)
14:30 294 150.0 5| Ri&e14:30 B3 (REAERS)
15:15 294 150.0 E BRige15:15 Bz CGRAERESE)
16:10 294 150.0 5 {Ri%016:10 B3 (GRAERKSE)
24t 3528.0 (12)%) 1800. 0 32K EC: 2080.0, PH: 5.6

HERRHEME STEAERTS (191.0 : 147.0), AIgERF—RE XAH45
BRI\ SEPRIERL147.0 ml.
#H[ERECE (2323.0 vs 4537.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=53 (2025-05-25)

T e g g e S B S g g

100 A

50

200 -

150 A

100 A

50 A

VI, V&RV, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET

1700

346

Warning: lcol [FVI',| "FVO’'] missing

- 2000

- 1000

80

0

1.0

Warning: lcol ["WC1',  "WC2'] missing

452

- 50

- 46

L 44

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

]
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1.0

- 2000

- 1000

0.8

0.6

0.4+

0.2~

0.0
1500 {

1000 A

500 A

—_— 4
[ ] | _obs
—@— PPFD obs

80 -

60

40 -

RH

o RH_obs
RHo_obs

L
- 48 =

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=450, FV0=0 m=495, FV0=0 m=5395, FV0=0

52 4 49,5 50. 0 -
—o— ME 47.54 —@— ME : - ME —o— ME
49.5 -
47.0 - 49.0
50 -
46.5 - 48.5 49.0
i 48.5
48 - 46.0 48.0 4
45.5 48.01
47.5
46 - 45.0 4 47.5
47.0
44.5 47.0
T T T T T T T T T T T T
600 800 1000 450 455 460 495 500 505 555 560 565
m=610,m FV0=0 m=655,m FV0=0 m=700,m FV0=0 m=740,m FV0=0
50 -
— - 501 —@— ME - ME —o— MFE
50 -
49 50 1
49 -
49 -
48 - 49 -
48 -
48 -
47 - 48 -
47 -
T T T T T T T T T T T T
610 615 620 655 660 665 700 705 710 740 745 750
m=780,m FV0=0 m=815,m FV0=0 m=860,m FV0=0 m=905,m FV0=0
51 - 51-57 51.5 -
- MF - MFE : —o— ME | 5 5] —o— MFE
51.0 1 51.0 4
51.0 -
50 1 50. 5 - 50. 5 -
50. 5 -
50. 0 - 50.0 1
49 - v 50.0 -
49.5 - :
49.5 -
49.0 49.07
48 - ' 49.0 -
48.5 -
780 785 790 815 820 825 860 865 870 905 910 915
m=950,m FV0=0 m=1010m FVO0=0 m m=450,m FV0=0
—o— ME —o— ME 4214 —@— MW 391 —— MW
51.5 -
51.5 -
51.0 -
51.0 40 38 1
50.5
50.5 - .
50. 0 38 1
50. 0 -
49.5 36
49.5 36 1
950 955 960 1010 1015 1020 600 800 1000 450 455 460
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P3-9

ByiE) | GEBIETIC (F)) | EHME (BAH/K) | XS ERE

07:10 294 150. 0 E BRi&e07:10 Bzl (GRAEREE)
07:55 294 150.0 5| {Ri%@07:55 B3 (FRAERSE)
09:15 294 150.0 =l RRiB009:15 B (RFAKEE)
10:10 294 150.0 S {Ri%@10:10 B3 (RAERSE)
10:55 294 150.0 El 1BRi&e10:55 Bz (GRAERE)
11:35 294 150.0 =l {Rige11:35 B3 (RAERSE)
12:15 294 150.0 Sl {Rige12:15 Bz (RAERSE)
12:55 294 150. 0 E| {Rige12:55 Bzh (RE{ERESE)
13:45 294 150.0 E BRige13:45 Bz CGRAERSE)
14:35 294 150.0 5| 1Rike14:35 Bz (REAERS)
15:35 294 150.0 E BRi%e15:35 Bz (GRAERSE)
17:00 294 150.0 5 {Ri%017:00 B3 (GRAERKSE)
24t 3528.0 (12)%) 1800. 0 32K EC: 2080.0, PH: 5.6

HERRHEME STEAERTS (191.0 : 147.0), AIgERF—RE XAH45
BRI\ SEPRIERL147.0 ml.
#H[ERECE (2223.0 vs 4380.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=52 (2025-05-24)

T e g g e S S B S g
VI, V4RV, ET — VI, VO, FVI, EVO, FRV, adjFRV, ET

100 A

50

(¢
200 -

150 A

100 A

50 A

1700
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Warning: lcol [FVI',| "FVO’'] missing
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1.0

Warning: lcol ["WC1',  "WC2'] missing

N
o
o
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FRV (ml d-1)

- 1000

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.0

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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T T
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P3-9

BrE) | GEBAK @) | ERE(EAH/K (XS R

06:55 300 150.0 PH| {Ri%@06:55 B (FRAFEREE)
07:50 300 150.0 & =| 1Ri%e07:50 Bah (kAIEREE)
09:10 300 150.0 & =| 1Ri%e09:10 Bz (kBEREE)
10:25 300 150.0 (& =| 1Ri%@10:25 Bzl (REERSE)
11:35 300 150.0 (& =| 1BRige11:35 Bzh (REERESE)
12:25 300 150.0 | =| Ri%e12:25 Bz (kBEREE)
13:20 300 150.0 FA| 1B2i%@13:20 B3h (kBHEREE)
14:20 300 150.0 FA| {Ri&@14:20 Bz CGRAEEE)
15:10 300 150.0 FA| 1Bi&@15:10 B3 (RAFEREE)
16:10 300 150.0 FA| 1BRi%@16:10 B3h (KBRS
23t+[3000.0 (10%) 1500. 0 3203 KEC: 2080.0, PH: 5.8

TERRHERE STRMERT (195.0 : 150.0), AAEAT—@AE XAHE
BRIASERRIERE150. 0 ml.
#[EKECE (2080.0 vs 4370.0) 15



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-9_0, Day=51 (2025-05-23)

T e g g e S B S g g
VI, V0, FRV, ET - VI, VO, FVI, EVO, FRV, adjFRV, ET
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Warning: lcol ['FVI’,

"FVO' ] missing

. v
FRV

e ———— — — ——— -

100

- 2000

- 1000

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=450, FV0=0 m=485, FV0=0 m=545, FV0=0

—— ME 451 —e— ME —— ME —— ME
47 1 47.5
447 47.0 -
46 -
43 - 46.5 A
15 46.0 -
42 -
45.5 -
T T T 411 T T T 44 - T T T 45.0 - T T T
600 800 1000 450 455 460 485 490 495 545 550 555
m=595,m FV0=0 m=655,m FV0=0 m=710,m FV0=0 m=770,m FV0=0
—o— ME 47.5 4 —@— M_E 48 —o— ME 481 _o— ME
47.0 + 47 -
47 -
46.5 -
46 -
46 0 N 46 _
45 -
45.5 -
45 -
T T T T T T T T T T T T
595 600 605 655 660 665 710 715 720 770 775 780
m=815,m FV0=0 m=875,m FV0=0 m=930,m FV0=0 m=990,m FV0=0
49.5 -
—o— ME V1 _o— ME 490 —® ME —o— ME
49.0 -
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48.0 -
48.0 -
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47.0 -
46 - i
46,5 - 47.0
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m m=450,m FV0=0 m=485,m FV0=0 m=545,m FV0=0
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34.5 37
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33.5 - 36 - 37.5 -
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32.5 1 7 36. 5 1
600 800 1000 450 455 460 485 490 495 545 550 555
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